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1)

Calculate the result.

a) 283 − 20 b) 885 − 40 c) 886 − 80 d) 797 − 70 e) 479 − 20
f) 371 − 60 g) 186 − 70 h) 475 − 60 i) 881 − 20 j) 877 − 30

2)

Calculate the result.

a) 764 − 200 b) 861 − 200 c) 891 − 200 d) 345 − 100
e) 361 − 100 f) 895 − 400 g) 453 − 300 h) 358 − 100
i) 657 − 400 j) 723 − 600
3)

Calculate the result.

a) 4700 − 600 b) 9700 − 700 c) 1700 − 700 d) 2800 − 600
e) 3900 − 500 f) 3800 − 500 g) 6700 − 700 h) 7600 − 400
i) 5600 − 500 j) 6800 − 800
4)

Calculate the result.

a) 24600 − 500 b) 73600 − 600 c) 76800 − 200 d) 18400 − 300
e) 93700 − 600 f) 46700 − 500 g) 80700 − 600 h) 36400 − 400
i) 66900 − 900 j) 28900 − 800

Good Luck!

www.dw-math.com Page 1 smp-6761-1/RQDX


